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// TlporpamMma 3anyckanacb MNOA onepauuoHHyw cuctemy Mac 0S X 10

#include <stdlib.h>
#include <stdio.h>
#include <stdint.h>
#include <sys/time.h>
#include <inttypes.h>
#include <gmp.h>
#include <math.h>
//#include <iostream>

/x #define LIM 55000 x/
#define LIM 100

int
main(int argc,char *argv[])

{

// FILE xfil;
mpz_t n, s, k, s_pres, 1, l_tmp, tmp, _tmp_tmp, new_num,
1l _criteria;
mpz_t cur_n;
mpz_t sl1, s2, sl_next, s2_next;
char p="'1";
//char xpll = (charx)argv[1l];//"out2.txt";

unsigned int j;

mpz_t par;

int cur_pow = 1;

//unsigned long cur_pow = 1;
clock_t time;

signed int cur_dig;

// fprintf(stdout,"%s", argv[1l]);
//return 0;

mpz_inits(n, s, s1, s2, sl_next, s2_next, s_pres, k, 1,
1_tmp, L_tmp_tmp, l_criteria, par, tmp, new_num, cur_n, NULL);

mpz_set_ui(cur_n, 3);

mpz_set_ui(l, 1);

//cur_n — 37n
//n — number that we check without koef



//l-koefficient
//new_num — number with koef

//mpz_set_ui(l, 173184579);
//cur_pow = 2;//2010;
//fprintf(stdout, "%lu", cur_pow);
cur_pow = atoi(argv[1]);

//cur_pow = 3;

for(int i = 1; 1 < cur_pow; i++){
mpz_mul_ui(cur_n, cur_n, 3);

}

do {

mpz_mul_ui(cur_n, cur_n, 3);
mpz_mul_ui(n, cur_n, 2);
mpz_sub_ui(n, n, 1);
CUr_pow++;

/*mpz_pow_ui(n, n, 20); ///TODO0 change power!!! to

mpz_mul_ui(n, n, 2);

mpz_sub_ui(n, n, 1);

gettimeofday(&t2, NULL);

printf("took %lu\n", (unsigned long) (t2.tv_usec -
tl.tv_usec));x*/

mpz_set_ui(l, 1);

mpz_set_ui(l_criteria, 1);

while(mpz_cmp(1l_criteria, cur_n) < 0){
mpz_mul_ui(1l_criteria, 1, 2);

mpz_set_si(sl_next, -14);

mpz_set_ui(s2_next, 1);

//fprintf(stdout, "Calculating power = %i and k
=%s \n", cur_pow, mpz_get_str(NULL, 10, 1));

time = clock();

mpz_add_ui(new_num, n, 1);
mpz_mul(new_num, new_num, 1);
mpz_sub_ui(new_num, new_num, 1);

mpz_set(1_tmp_tmp, 1);

mpz_set_ui(1l_tmp, 1);

while(mpz_cmp_ui(1_tmp_tmp,1) > 0){
mpz_mul_ui(l_tmp, 1_tmp, 2);
mpz_mod_ui(par, 1_tmp_tmp, 2);
mpz_add(1_tmp, 1_tmp, par);
mpz_div_ui(l_tmp_tmp, 1_tmp_tmp, 2);



while(mpz_cmp_ui(l_tmp, 1) != 0){

mpz_set(sl, sl_next);

mpz_set(s2, s2_next);

mpz_mod_ui(tmp, 1_tmp, 2);

cur_dig = (unsigned int)mpz_get_ui(tmp) * 8;

//s1_next calculate

mpz_mul(tmp, sl1l, sl);

mpz_sub_ui(tmp, tmp, 2);

mpz_set(sl_next, tmp);

mpz_set(s2_next, tmp);

mpz_mul_ui(tmp, tmp, cur_dig);

mpz_sub(sl_next, sl_next, tmp);

mpz_set_ui(tmp, cur_dig);

mpz_mul_ui(tmp, tmp, 12);

mpz_mul(tmp, tmp, sl1);

mpz_mul(tmp, tmp, s2);

mpz_add(sl_next, sl_next, tmp);

mpz_mod(sl_next, sl_next, new_num);

//sl_next = (sl x s1 - 2) x (1 - cur_dig) + 12
* cur_dig * sl x s2;

//s2_next calculate

// mpz_mul(s2_next, sl1, sl);

// mpz_sub_ui(s2_next, s2_next, 2);
mpz_mul_si(tmp, s1, cur_dig - 1);
mpz_mul(tmp, tmp, s2);
cur_dig /= 8;
mpz_mul_ui(s2_next, s2_next, cur_dig);
mpz_div_ui(s2_next, s2_next, 2);
mpz_sub(s2_next, s2_next, tmp);
mpz_mod(s2_next,s2_next, new_num);

//s2_next = cur_dig * ((s1 % s1 - 2) - (-1 +
8cur_dig) * sl x s2) / 2;

//m——;

mpz_div_ui(1_tmp, 1_tmp, 2);
}

// printf("Info: num = 3%s\n\n", mpz_get_str(NULL,
10, new_num));

mpz_set(s, sl_next);

for (j = 1; j < cur_pow; j++) {
mpz_set(s_pres, s); //s_pres = s
mpz_mul(s, s, s); //s *= s
mpz_sub_ui(s, s, 3); //s —= 3
mpz_mul(s, s, s_pres);//s %= s_pres
mpz_mod(s, s, new_num); //s = s % n



by

if (mpz_cmp_si(s, -2) '= 0) {
mpz_mul(k, s, s); //K = sxs
mpz_sub_ui(k, k, 1); //k ——;
mpz_mod(tmp, k, new_num); //tmp = k % n
if (mpz_cmp_ui(tmp, 0) == 0){
//printf("new_num = %s time %f \n",
mpz_get_str(NULL, 10, new_num), (double)(clock() -
time)/CLOCKS_PER_SEC);
//fil = fopen("out2.txt", "r+");
//fseek(fil, 0, 2);
fprintf(stdout,
"num=%s\npow=%i\nkoef=%s\ntime=%f\n\n", mpz_get_str(NULL, 10,
new_num), cur_pow, mpz_get_str(NULL, 10, 1), (double)(clock()
— time)/CLOCKS_PER_SEC);
//std::cout<<"num = "<<mpz_get_str(NULL,
10, new_num)<<"\nkoef="<<mpz_get_str(NULL, 10,
1)<<"\ntime="<<(clock() - time)/CLOCKS_PER_SEC << "\npow =
"<<cur_pow;
//fclose(fil);
//printf("\nTrue m = %u\n", m);
}
} else
printf("Alarm! m = %i\n", cur_pow);

mpz_add_ui(l, 1, 2);

mpz_mod_ui(1_tmp, 1, 3);

if(mpz_cmp_ui(l_tmp, @) == 0){
mpz_add_ui(1,1,2);

}

//printf("time %f \n", (double)(clock() -
time)/CLOCKS_PER_SEC);
}
// p = getch();

while(p !'= 27);
mpz_clears(n, s, s_pres, k, tmp, 1, new_num, NULL);

return 0;



